Vidar Christiansen

Econ 4620 Public economics: Seminar assignment for week 39.
The purpose is to focus on selected topics of HM ch. 4, and further on tax distortions and optimal tax theory.
Problem 1
Tax distortions

a) Explain verbally why imposing a VAT distorts the labour supply.

b) Explain in words why a (uniform) VAT does not distort the intertemporal allocation. 

c) How can the average tax rate at some income level distort the labour supply? 

d) Discuss the following statements: 
“In order to achieve extensive redistribution from rich to poor under income taxation, the rich must be faced with a large marginal tax rate.” 

e) Assume that the following specific tax rates apply to three commodities: -2, 1 and 5. Assume that a policy reform induces the following changes in the consumption of the respective goods: +10, -10 and +2. What is the efficiency gain or loss? Explain the effects. 
Problem 2
A country has a linear income tax. Adding a third tax bracket with surtax on high incomes is being considered. You work for the OECD and go on a mission to the country to give advice, among other things, on the issue above. 

a) What is the theoretical foundation on which you would base your advice?

b) What kind of empirical information would you try to collect and which issues would you raise in your talks with the representatives of the country?

c) What kind of conditions would be conducive to the reform proposal?

An argument often heard is that the surtax should not kick in at an income level that is “common among ordinary people”. 

d) Are you persuaded by this argument? 

Problem 3 
Consider the Ramsey tax model with heterogeneous individuals. An essential term used to characterise the optimal tax structure in this model is the following (as shown in HM eq. (14.26)):

[image: image1.wmf]222

12

111

12

ikiikiiki

iii

kkk

tStStS

xxx

===

+

=

+

ååå

          (1)
=
[image: image2.wmf]2

1

iik

i

k

tS

x

=

å

                                           (2)

where 
[image: image3.wmf]ik

S

denotes the aggregate compensated price derivative.
a) Explain the economic content of this term using one of the alternatives (1) – (2). 

b) Show that if cross-price effects are zero the term can be written as 
[image: image4.wmf]k

k

k

t

q

e

 where
[image: image5.wmf]k

e

is the elasticity corresponding to
[image: image6.wmf]kk

S

.
c) Explain what is meant by the inverse elasticity rule?
Problem 4 
Give an account of how the public good provision is determined according to the median voter model of HM ch.4.3.4. 

Give a critical review of the assumptions of the model. 

Problem 5
Explain how cost diffusion may lead to excessive public spending. 
State your view on the relevance of this model. 
_1220164509.unknown

_1220165195.unknown

_1220165874.unknown

_1220165946.unknown

_1220164557.unknown

_1220164067.unknown

